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QUESTION 1

On which node of an Informix H/A cluster can you execute an external backup without disturbing cluster operations? 

A. Primary 

B. Shared disk secondary 

C. Remote standalone secondary 

D. High-availability data replication secondary 

Correct Answer: C 

 

QUESTION 2

When a SELECT statement is executed which statement is true? 

A. The number and duration of the locks is dependent on the ISOLATION LEVEL. 

B. If COMMITTED READ isolation is in place then the SELECT will never encounter any locking errors. 

C. Within a transaction the database server will place row or page locks on anonlogging table. 

D. If the SELECT is part of an UPDATE cursor then the database server will place an exclusive lock on the entire
dataset. 

Correct Answer: A 

 

QUESTION 3

Which $ONCONFIG parameter triggers an automatic increase to a chunk or space based on remaining free space? 

A. SP_AUTOGROW 

B. SP_THRESHOLD 

C. SP_AUTOEXPAND 

D. SP_CHUNKEXTEND 

Correct Answer: B 

 

QUESTION 4

The following shrink command has what effect on the customer table? execute function sysadmin:task("table
shrink","customer") 

A. Moves all rows to the beginning of the table while users can modify the table. 
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B. Locks the table in exclusive mode and moves all rows to the beginning of the table. 

C. Locks the table in exclusive mode and releases all free space at the end of the table. 

D. Releases all free space at the end of the table to thedbspace while users can modify the table. 

Correct Answer: D 

 

 

QUESTION 5

Which statement about compression is NOT true? 

A. If you use High-Availability clusters, data that is compressed on the primary will not be compressed on the
secondary(s). 

B. If you use Enterprise Replication, compressing data on one replication server does not affect the data on any other
replication server. 

C. You cannot perform compression operations on a High-Availability cluster secondary. 

D. The query optimizer may choose different query plans because compressed data covers fewer pages and has more
rows per page than uncompresseddata. 

Correct Answer: A 

 

 

QUESTION 6

Identify a scenario when you CANNOT use in-place migration? 

A. When you want to change database locale. 

B. When you want to migrate from a 32-bit to a 64-bit port of Informix. 

C. When you want to defragment some of the heavily fragmented tables. 

D. When you want to use new configuration features in the new Informix version. 

Correct Answer: A 

 

QUESTION 7

Which command line utility displays real time statistics about the instance? 

A. dbinfo 

B. onstat 
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C. dbschema 

D. onmachinfo 

Correct Answer: B 

 

QUESTION 8

What does the following task function do? 

EXECUTE FUNCTION task("storagepool add", "/region2/dbspaces", "0", "0", "20000", "1"); 

A. Creates a secondstoragepool. 

B. Createsdbspace at /region2/dbspaces. 

C. Invalid offset and total size forstoragepool add command. 

D. Add the directory /region2/dbspaces to the storagepool with a beginning offset of 0, a total size of 0, initial chunk size
of 20 MB, and a high priority. 

Correct Answer: D 

 

QUESTION 9

Which sysmaster table can be queried to find the logging status of a database? 

A. sysdb 

B. sysdblog 

C. sysdatabases 

D. sysdblogstatus 

Correct Answer: C 

 

QUESTION 10

Given the following: 
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A. Update three rows. 

B. Update one row and insert two rows. 

C. Update two rows and insert one row. 

D. Return a 26095 error - Cannot update or delete a row twice in a MERGE statement. 

Correct Answer: C 

 

QUESTION 11

Which action will NOT occur when the following command is executed? UPDATE STATISTICS HIGH 

A. Recompile all stored procedures. 

B. Update statistics low on all tables. 

C. Update statistics high on all tables. 

D. Update statistics medium on all tables. 

Correct Answer: D 

 

QUESTION 12

Which statement is NOT true for interval fragmentation? 

A. A NULL fragment is allowed. 

B. A remainder fragment is allowed. 

C. Fragments cannot be overlapping. 

D. A fragment key can have only a single column. 

Correct Answer: B 
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QUESTION 13

Given the following SQL command where the DBSPACETEMP onconfig and environment variables are set to valid
dbspaces: 

createtemp table mytemp (columns) with no log; 

inwhat order will the instance evaluate where to place this table? 

A. DBSPACETEMP environment variable, rootdbspace, dbspace where the database was created, DBSPACETEMP
onconfig parameter. 

B. DBSPACETEMP environment variable, DBSPACETEMPonconfig parameter, dbspace where the database was
created, root dbspace. 

C. DBSPACETEMPonconfig parameter variable, DBSPACETEMP environment variable, root dbspace, dbspace where
the database was created. 

D. DBSPACETEMPonconfig parameter variable, root dbspace, dbspace where the database was created,
DBSPACETEMP environment variable. 

Correct Answer: B 

 

QUESTION 14

A Connection Manager is started with the following Service Level Agreement: 

SLA report=(SDS+report_server) 

Where will a connection to the report SLA be redirected? 

A. Any available SDS (Shared Disk Secondary) server, thenreport_server. 

B. Report_server, then any available SDS server. 

C. Report_server, then the SDS server with most available resources. 

D. The server with the most available resources in the SLA list, including all SDS servers andreport_server. 

Correct Answer: D 

 

QUESTION 15

Which statement about in-place migration is true? 

A. In-place migration is possible when an Informix instance is migrated from a non-Informix database management
system. 

B. In-place migration is possible when an Informix instance is migrated from an older version of Informix on the same
operating system. 
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C. In-place migration is possible when an Informix instance is migrated from an older version of Informix on a different
operating system. 

D. In-place migration requires that the DBA copy the database schema, user data, and user objects from the older
version to the newer version of Informix. 

Correct Answer: B 
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